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Child Development & Pedagogy 
 

 

1. Match the following . 

1. Idealism  A. Fact 

2. Realism  B. Tradition 

3. Scholasticism C. Mind   

4. Thomism  D. Growth is effic- 

                iency 

5. Pragmatism E. Combination  

   offaith and reason. 

(A) 1-c, 2-a, 3-b, 4-e, 5-d   

(B) 1-a, 2-b, 3-c, 4-d, 5-e 

(C) 1-e, 2-d, 3-c, 4-b, 5-a   

(D) 1-b, 2-c, 3-d, 4-e, 5-a 

2. Full form of NCF is. 

(A) National curriculum framework  

(B) National Course Framework 

(C) Native curriculum Framework  

(D) Nation curriculum Formative. 

3. Article 21-A and the RTE Act came 

into effect on., 

(A) 1st April 2009 (B) 1st April 2010 

(C) 2nd May 2010  

(D) 11th April 2008 

4. Which of the following is not an 

effective strrategy for teaching learni-

ng ?  

(A) Encouraging children to make 

intuitive guesses    

(B) Experimentation and exploration  

(C) Dialogue and discussion   

(D) Focusing on repeating 

5. Child-centerel pedagogy promotes 

(A) Exclusive reliance on text books.  

(B) Giving primacy to children's 

experience. 

(C) Rote memorisation    

(D) Labelling and categorization of 

students based on ability. 

6. If a child is shy in nature. He will. 

(A) Not engage in groups properly  

(B) He may find satisfation in 

limited social interaction. 

(C) Both A and B    

(D) Not allow others to play  

Ckky fodkl ,oa f'k{kk 'kkL= 

1- fuEufyf[kr dk feyku djsa& 

1. vkn'kZokn  A- rF;   

2. ;FkkFkZokn  B- ijaijk 

3. fon~os"k   C.  efLr"d   

4. VkWeokn  D. n{krk esa o`f) 

5. O;kogkfjdrk  E. fo'okl vkSj rdZ  

       dk esy 

(A) 1-c, 2-a, 3-b, 4-e, 5-d   

(B) 1-a, 2-b, 3-c, 4-d, 5-e 

(C) 1-e, 2-d, 3-c, 4-b, 5-a   

(D) 1-b, 2-c, 3-d, 4-e, 5-a 

2- ,u-lh-,Q dk foLr`r :i gS 

(A) us'kuy dfjdqye ÝseodZ    

(B) us'kuy dkslZ ÝseodZ 

(C) usfVo dfjdqye ÝseodZ    

(D) us'ku dfjdqye QkWesZfVo 

3- vuqPNsn 21&A vkSj vkj-Vh-bZ- vf/kfu;e ykxw 

gqvk FkkA 

(A) 1 vizSy 2009 (B) 1 vizSy 2010 

(C) 2 ebZ 2010  (D) 11 vizSy 2009 

4- fuEufyf[kr esa ls dkSu lh f'k{k.k&vf/kxe ds 

fy, ,d izHkko'kkyh iz.kkyh ugha gS\ 

(A) cPpksa dks var%n`f"V ds }kjk vuqeku yxkus 

ds fy, izksRlkfgr djuk A    

(B) iz;ksx ,oa i;Zos{k.kA 

(C) laokn ,oa ifjppkZ    

(D) fn, x, Kku dks nksgjkus ij /;ku dsfUnzr 

djukA 

5- Nk= dsfUnzr f'k{kk'kkL= dh D;k fo'ks"krk gSS 

(A) dsoy ikB~;iqLrdksa ij fuHkZj gksuk  

(B) cPpksa ds vuqHkoksa dks izeq[krk nsuk 

(C) ;a=or ;kn djuk    

(D) ;ksX;rk ds vk/kkj ij fo|kfFk;ksa dks 

ukekafdr djuk rFkk oxhZdj.k djuk 

6- ;fn ,d cPpk LoHkko ls 'kehZyk gSA og gksxk% 

(A) lewgksa esa iw.kZ :i ls 'kkfey ugh gksxkA 

(B) og lhfer lkekftd esy tksy esa larqf"V ik  

ldrk gSA 

(C) A vkSj B nksuksa    

(D) vU; yksxksa dks [ksyus ugha nsxkA 
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7. Which of them are not the type of the 

field theory that emphasises changes in 

cognitive structure. 

(A)Differentiation(B) Behoviourism 

(C)Generalisation(D)Reconstruction 

8. Which of the following statement is 

correct about development ? 

(A) Each phase of the develpement has 

characteristic behavior   

(B) All development follows a seque-

nce 
(C) Both A and B   (D) None of the above 

9. A response to the demand for quality 

basis education all over the country is 

the main feature of. 

(A) Sarva shiksha abhiyan   

(B) RTE Act 

(C) Mid day meal (D) None of these 

10. Lev vygotsky in 1978 statesi every 

function in the child's cultural develop-

ment appears turce; first, on the social 

level, and later, on the............. level.   

(A) Cultural level (B) Physical level 

(C) Individual level(D) All of these 

11. Which of the following is not democ-

ratic strategy in classroom teaching ? 

(A) Lecture  (B) Project 

(C) Heuristic       (D) Brainstorming 

12. The most important factor is that 

which makes class room teaching more 

interesting in ............ 

(A) Content of topic(B) Lesson plan 

(C) Teacher's personality   

(D) Teaching method. 

13. What is socialization ? 

(A) Acquiring values, beliefs and exp-

ectations.    

(B) Assimilation and accomodation. 

(C) Learning to critisize the cutture of  

a society.    

(D) Social circle. 

14. According to piaget, as children grow, 

there is a.................change in how they 

think. 

(A) Quantitative (B) Qualitative 

(C) Drastic  (D) Calculable 

7- buesa ls dkSu lk ^{ks= fl)kUr* dk izdkj ugha 

gS tks laKkukRed lajpuk esa ifjorZu ij tksj 

nsrk gSA 

(A) foHksnhdj.k  (B) O;ogkjokn 

(C) lkekU;hdj.k  (D) iquxZBu 

8- fuEufyf[kr esa ls dkSu lk dFku fodkl ds ckjs 

esa lgh gS\ 

(A) fodkl ds izR;sd pj.k esa pkfjf=d O;ogkj 

'kkfey gksrk gS    

(B) lHkh fodkl ,d Øe dk vuqlj.k djrs gSa 

(C) nksuksa A vkSj B    

(D) mijksDr esa ls dksbZ ugha 

9- iwjs ns'k esa xq.koÙkkiw.kZ cqfu;knh f'k{kk dh ekax 

dh izfrfØ;k dh eq[; fo'ks"krk gSA 

(A) loZ f'k{kk vfHk;ku (B) vkj-Vh-bZ-,DV 

(C) feM Ms ehy  (D) buesa ls dksbZ ugha 

10- o"kZ 1978 esa yso ok;sxkRldh dgrs gSa% ^^ cPps 

ds lkaLd`frd fodkl esa izR;sd dk;Z nks ckj 

fn[kkbZ nsrk gS% igyk] lkekftd Lrj ij vkSj 

ckn esa]--------------Lrj ijA** 

(A) lkaLd`frd Lrj (B) 'kkjhfjd Lrj 

(C) O;fDrxr Lrj (D) mijksDr lHkh 

11- fuEu esa ls dkSu&lh d{kk f'k{k.k esa turkaf=d 

f'k{k.k & uhfr ugha gS\ 

(A) O;k[;ku  (B) ;kstuk 

(C) vuos"k.k  (D) efLr"d m}syu 

12- lcls  egRoiw.kZ dkjd og gS tks d{kk f'k{k.k 

dks------------esa vf/kd fnypLi cukrk gSA 

(A) fo"k; dh lkexzh (B) ikB ;kstuk 

(C) f'k{kd dk O;fDrRo (D) f'k{k.k i)fr 

13- lekthdj.k D;k gS\ 

(A) ewY;] fo'okl vkSj vis{kkvksa dh izfIrA  

(B) vkRelkr vkSj lek;kstuA 

(C) lekt dh laLd`fr dh vkykspuk djuk 

lh[kuk A    

(D) lkekftd leqnk; 
14- fi;kts ds vuqlkj] ^^tSls&tSls cPps c<+rs gSa 

oSls&oSls mudh lksp esa------------ cnyko vkrk 

gS\** 

(A) ek=kRed  (B) xq.kkRed 

(C) Hkh"k.k   (D) x.kuk ;ksX; 
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15. What is the aim of learning ? 

(A) Mental development   

(B) Change in Behaviour 

(C) Provide Coaching 

(D) Increase memory 

16. What is the full form of IEDSS ? 

(A) Inclusive Education for Disabled at 

Secondary Stage.   

(B) Integrated Education for Disabled at 

Secondary Stage 

(C) Inclusive Education for Different at 

Secondary Stage  

(D) Inclusive Education for Disabled at 

Senior Stage.  
17. The correct sequence of child development 

is; 

(A) Adult-teenange - childhood  

(B) Early teens-Middle Age-later teen 

(C) Childhood-Adolescence– Maturity  

(D) None of these 

18. Kohlberg was an.......................... 

(A) Indian isychologist    

(B) Australian Psychologist 

(C) American Constructivist   

(D) American Psychologist 

19. Piaget's theory focused on- 
(A) Acceptance of Individual disputes.  

(B) Readiness of children's learning 

(C) Cognitive Development   

(D) Need of oral teaching 

20. The development from central part of the 

body towards peripheries or extremities 

denote the. 

(A) Principles of decentralized develop-

ment    

(B) Principles of proximodistal develop-

ment 

(C) Principles of cascade development  

(D) Priniciples of radiated development 

21. Which of the following factors supports 

meaningful learning in the classroom. 

(A) Increasing number of tests to 

motivate children to learn   

(B) Increasing rewards to motivate 

(C) Following only the lecture mode for 

instruction    

(D) Showing genuine interest in the 

content matter and having concern for 

children's overall well being and learning 

 

15-  vf/kxe dk mís'; D;k gS\ 

(A) ekufld fodkl   (B) O;ogkj esa ifjorZu 

(C) dksfpax miyC/k djkuk(D) Le`fr esa o`f) 

16- IEDSS dk iw.kZ :i D;k gS\ 

(A) ek/;fed pj.k esa fodykaxksa ds fy, lekos'kh f'k{kk 

(B) ek/;fed Lrj ij fodykaxksa ds fy, ,dhd`r f'k{kk 

(C) ek/;fed pj.k esa fofHkUurk ds fy, lekos'kh 

f'k{kk    

(D) ofj"B Lrj ij fodykaxksa ds fy, lekos'kh f'k{kk  

17- cky fodkl dk lgh Øe gSA 

(A) izks<+koLFkk&fd'kksjkoLFkk&ckY;koLFkk  

(B) iwoZ fd'kksjkoLFkk & e/; fd'kksjkoLFkk& mÙkj 

fd'kksjkoLFkk 

(C) ckY;koLFkk & fd'kksjkoLFkk& izkS<+koLFkk  

(D) buesa ls dksbZ ugha  

18- dksgYcxZ ,d-----------------Fks \ 

(A) Hkkjrh; euksoSKkfud 

(B) vkWLVªsfy;kbZ euksoSKkfud 

(C) vesfjdh jpukoknh    

(D) vesfjdh euksoSKkfud 

19- fi;kts ds fufgrkFkZ gS& 

(A) O;fDrxr erHksnksa dh Lohd`fr   

(B) cPpksa dh lh[kus dh rRijrk 

(C) laKkukRed fodkl    

(D) ekSf[kd f'k{k.k dh vko';drk 

20- 'kjhj ds dsUnz ls ifj/kh; vFkok gkFk&iSjksa dh 

vksj gksus okyk fodkl n'kkZÙkk gSA 

(A) fodsUnzhd`r fodkl ds fl)kUr   

(B) izkWfDleksfMLVy fodkl ds fl)kUr 

(C) lksikuh ikr fodkl ds fl)kUr   

(D) fodh.kZ fodkl ds fl)kUr 

21- fuEufyf[kr esa ls dkSu lk dkjd d{kk esa 

lkFkZd vf/kxe dk i{k ysrk gS\ 

 (A) cPpksa dks i<+us ds fy, vfHkizsfjr djus 

gsrq ijh{k.kksa dh la[;k dks c<+kuk   

 (B) cPpksa dks i<+us ds fy, vfHkizsfjr djus 

gsrq iqjLdkjksa dks c<+kok nsuk 

 (C) funsZ'k ds fy, dsoy O;k[;ku fof/k dks 

viukuk    

 (D) fo"k;oLrq rFkk cPpksa ds lEiw.kZ dq'ky{kse 

,oa vf/kxe ds izfr lPpk ljksdj j[kuk 
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22. Which among the following is not the 

form of objectve type questions? 

(A) Multiple choice questions.  

(B) Alternative type questions. 

(C) Diagrammatic type questions.  

(D) Matching type questions. 

23. Which of the following is most 

suitable educational arrangements that 

should be done with students with 

disabilities ? 

(A) Financial 

(B) Inclusive Education 

(C) Different Education    

(D) Ask him to sit on the first bench in 

the class. 

24. Primary objective of assessment 

should be. 

(A) Assigning rank to students.  

(B) Understanding children's clarity 

and confusions about related con-

cepts. 

(C) Labelling students as per their 

score.    

(D) Marking pass or fail in the report 

cards. 

25. Nature and characteristics of creativity 

is. 

(A) Creativity is universal   

(B) Creativity is innate as well as acq-

uired 

(C) Creativity is adventurous and open 

thinking.    

(D) All of these 

26. 'Divyang term is used for.............  

(A) Person with Disability   

(B) People with hearing impairment 

(C) Mental illness    

(D) Sensory Impaired 

27. According to 2001 revised  Bloom's 

Taxonomy of objective in the cogni-

tive domain, comprehension is 

replaced with. 

(A)Remembering 

(B) Understanding 

(C) Applying (D) Creating 

22- fuEu esa ls dkSu lk oLrqfu"B izdkj ds iz'uksa 

dk :i ugha gS\ 

 (A) cgqfodYih; iz'u  

 (B) oSdfYid izdkj ds iz'u 

 (C) vkjs[k.k izdkj ds iz'u    

 (D) feyku izdkj ds iz'u 

23- fuEu esa ls dkSu lh mi;qDr 'kS{kf.kd O;oLFkk 

gS tks fnO;kax Nk=ksa ds lkFk dh tkuh pkfg, \ 

 (A) foÙkh;    

 (B) lekos'kh f'k{kk 

 (C) vyx f'k{kk   

 (D) mls d{kk esa igyh csap ij cSBus dks 

dguk 

24- vkdyu dk izkFkfed mís'; D;k gksuk pkfg, 

\ 

 (A) fo|kfFkZ;ksa ds fy, Js.kh fuf'pr djuk A  

 (B) lacaf/kr vo/kkj.kkvksa ds ckjs esa cPpksa dh 

Li"Vrk rFkk Hkzkafr;ksa dks le>uk 

 (C) fo|kfFkZ;ks ds izkIrkadksa ds vk/kkj ij mudks 

ukekafdr djukA    

 (D) fjiksVZ dkMZ esa mÙkh.kZ ;k vuqÙkh.kZ vafdr 

djukA 

25- jpukRedrk dh izd`fr vkSj y{k.k gSA 

 (A) jpukRedrk lkoZHkkSfed gSA   

  (B) jpukRedrk tUetkr gksus ds lkFk&lkFk 

vftZr gksrh gSA 

 (C) jpukRedrk lkgfld vkSj [kqyh lksp gSA  

 (D) ;s lHkh  

26- ^fnO;kax* 'kCn --------------ds fy, iz;ksx fd;k 

tkrk gSA 

(A) fodykax O;fDr  

(B) Jo.k <ks"k okys yksx 

(C) ekufld jksx   

(D) laosnh :i ls {kh.k 

27- 2001 ds Cywe ds laKkukRed {ks= esa mís'; ds 

oxhZdj.k la'kks/ku ds vuqlkj] cks/k dks 

izfrLFkkfir fd;k tk ldrk gS& 

(A) ;kn djds   

(B) le> dj 

(C) ykxw djds  (D) jpuk djds 
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28. Who classified the instincts in 

fourteen types ? 

(A) Draver  (B) McDougall 

(C) Thorndike (D) Woodworth. 

29. Grading of task in school teaching 

focus upon - 

(A) Simple to complex    

(B) Known to unknown 

(C) Concrete to Abstract   

(D) All are correct. 

30. Which one of the following explains 

multiple factor theory by Gardener ? 

(A) Intelligence doesn't exist as 

single entity rather as compound 

intellignce, each distinct from other. 

(B) Factors of intelligence largely 

depend on one another. 

(C) Two factors of intellingence 

cannot work together.    

(D) Intelligence doesn't exist at all. 
 

28- ewy izo`fÙk;ksa dks pkSng izdkj ls fdlus oxhZd`r 

fd;k gS\ 

(A) Mªsoj   (B) eSDMwxy 

(C) FkkWuZMkbd  (D) oqMoFkZ 

29- Ldwy f'k{k.k esa dk;Z dh xszfMax djuk fdl ij 

/;ku dsfUnzr djrk gS& 

(A) ljy ls dfBu (B) Kkr ls vKkr 

(C) Bksl ls vewrZ (D) lHkh lgh gSa 

30- fuEufyf[kr esa ls dkSu lk xkMZuj }kjk cgqcqf) 

ds fl)kUr dh O;k[;k djrk gS\ 

(A) cqf)eRrk ,d ,dy bdkbZ ugha gS cfYd 

;gk¡ ij dbZ cqf)eÙkk,a ekStwn gSa] izR;sd ,d & 

nwljs ls vyx gSaA    

(B) cqf)eÙkk ds dkjd eq[; :i ls ,d nwljs 

ij fuHkZj djrs gSa 

(C) cqf)eÙkk ds nks vyx&vyx dkjd ,d 

lkFk dke ugha dj ldrs gSa    

(D) cqf)eÙkk] fcYdqy ekStwn ugha gSA  

Hkk"kk&I (fgUnh) 
Language-I (Hindi) 

             

funsZ’k&¼iz’u 31ls 39 rd½% uhps fn, x, x|ka’k dks 

i<+dj fuEufyf[kr iz’uksa esa lcls mfpr fodYi pqfu,A 

 Lokeh foosdkuUn th ,d ,sls lar Fks ftudk 

jkse&jkse jk"VªHkfDr ls vksr izksr FkkA muds lkjs fpUru 

dk dsUnzfcUnq jk"Vª FkkA vius jk"Vª dh izxfr ,oa mRFkku 

ds fy, ftruk fparu ,oa deZ bl rstLoh laU;klh us 

fd;k] mruk iw.kZ lefiZr jktuhfrKksa us Hkh lEHkor% ugha 

fd;kA vUrj ;g gS fd bUgksaus lh/ks jktuhfrd /kkjk esa 

Hkkx ugha fy;k fdUrq buds deZ ,oa fpUru dh izsj.kk ls 

gtkjksa ,sls dk;ZdrkZ rS;kj gq, ftUgksaus jk"Vª jFk dks vkxs 

c<+kus ds fy, viuk thou lefiZr dj fn;kA 

      mUgksaus futh eqfDr dks thou dk y{; ugha cuk;k 

Fkk cfYd djksM+ksa ns’kokfl;ksa ds mRFkku dks gh viuk 

thou y{; cuk;kA jk"Vª ds nhu&ghu tuksa dh lsok dks 

gh os bZ’oj dh lPph iwtk ekurs FksA lR; dh vuojr 

[kkst mUgsa nf{k.ks’oj ds lar Jh jked`".k ijegal rd ys 

xbZ vkSj ijegal gh og lPps xq: fl) gq, ftudk 

lkfUu/; ikdj budh Kku&fiiklk 'kkar gqbZA mUrkyhl o"kZ 

ds laf{kIr thoudky esa Lokeh th tks dk;Z dj x, os 

vkus okyh vusd 'krkfCn;ksa rd ihf<+;ksa dk ekxZn’kZu 

djrs jgsaxsA 

    rhl o"kZ dh vk;q esa bUgksaus f’kdkxks] vesfjdk ds 

fo’o /keZ&lEesyu esa fgUnw /keZ dk izfrfuf/kRo fd;k vkSj 

bls lkoZHkkSfed igpku fnyokbZA rhu o"kZ rd os vesfjdk 

esa jgs vkSj ogk¡ ds yksxksa dks Hkkjrh; rRo&Kku dh 

vn~Hkqr T;ksfr iznku dhA ^^v/;kRe fo|k vkSj Hkkjrh; 

n’kZu ds fcuk fo’o vukFk gks tk,xk** ;g Lokeh th dk 

n`<+ fo’okl FkkA 

    os dsoy lar gh ugha ,d egku ns’kHkDr] oDrk 

fopkjd] ys[kd vkSj ekuo&izseh Hkh FksA vesfjdk ls 

ykSVdj mUgksaus vktknh dh yM+kbZ esa ;ksxnku nsus ds fy, 

ns’kokfl;ksa dk vkg~oku fd;k vkSj turk us Lokeh th dh 

iqdkj dk mRrj fn;kA xk¡/kh th dks vktknh dh yM+kbZ esa 

tks tu&leFkZu feyk Fkk] og Lokeh th ds vkg~oku dk 

gh Qy FkkA mUuhloha lnh ds vkf[kjh nkSj esa os yxHkx 

l’kDr Økafr ds tfj, Hkh ns’k dks vktkn djkuk pkgrs 

FksA ijUrq mUgsa tYn gh ;g fo’okl gks x;k Fkk fd 

ifjfLFkfr;k¡ mu bjknksa ds fy, vHkh ifjiDo ugha gSaA 
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blds ckn gh mUgksaus ,d ifjozktd ds :Ik esa Hkkjr vkSj 

nqfu;k dks [kaxky MkykA 

  Lokeh th bl ckr ls vk’oLr Fks fd /kjrh dh 

xksn esa ;fn dksbZ ,slk ns’k gS ftlus euq"; dh gj rjg 

dh csgrjh ds fy, bZekunkj dksf’k’kas dh gaS] rks og Hkkjr 

gh gSA mudh n`f"V esa fgUnq /keZ ds loZJs"B fpUrdksa ds 

fopkjksa dk fupksM+ iwjh nqfu;k ds fy, vc Hkh vk’p;Z dk 

fo"k; gSA Lokeh th us ladsr fn;k Fkk fd fons’kksa esa 

HkkSfrd le`f) rks gS vkSj mldh Hkkjr dks t:jr Hkh gS 

ysfdu gesa ;kpd ugha cuuk pkfg,A gekjs ikl mlls 

T;knk cgqr dqN gS tks ge if’pe dks ns ldrs gSa vkSj 

if’pe dks mldh cslk[rk t:jr gSA 

31. fuEufyf[kr esa ls dkSu&lk Lokeh foosdkuUn th ds 

fparu dk lcls izeq[k fcUnq Fkk\ 

      (A) vk/;kfRed fodkl (B) vkfRed fodkl  
      (C) jk"Vª dk fodkl   (D) tu&tu dh izxfr  
32. Lokeh foosdkuUn th dk f’kdkxks fo’o 

/keZ&lEesyu esa Hkkx ysus dk mn~ns’; FkkA 

      (A) fgUnw /keZ esa fufgr rRo Kku        
      (B) Lo;a dks fgUnw /keZ ds loZJs"B izpkjd ds :Ik      
      esa izfrLFkkfir djuk   
      (C) fgUnw /keZ dk izpkj&izlkj djuk         

    (D) fgUnw /keZ dks vU; /keksaZ dh rqyuk esa Js"B  

       fl) djuk   

33. fuEu esa ls dkSu&lk 'kCn mnwZ Hkk"kk dk gS\ 

      (A) [kaxky       (B) jkse&jkse   
      (C) cslk[rk       (D) jk"Vª   

34. ^^ xk¡/khth dks vktknh dh yM+kbZ esa tks tu& 

leFkZu feyk Fkk] og Lokeh foosdkuUn th ds 

vkg~oku dk Qy FkkA** fuEufyf[kr esa ls dkSu&lk 

dFku blds Hkko dks lgh :Ik esa O;Dr djrk gS\ 

       (A) vktknh dh yM+kbZ esa xk¡/khth dks tks leFkZu   

       feyk mldh uhao Lokeh foosdkuUn th us gh j[kh  

       FkhA        
       (B) vktknh dh yM+kbZ esa Lokeh foosdkuUnth  

      xk¡/khth dh lgk;rk djuk pkgrs FksA   

     (C) Lokeh foosdkuUn th esa turk dks tkx`r 
djus dh {kerk xk¡/khth ls vf/kd FkhA         

    (D) ;fn Lokeh th us iz;kl u fd;k gksrk rks     
      xk¡/khth dks bruk vf/kd tu&leFkZu izkIr ugha  

      gksrkA   

35. ^jk"VªHkfDr* esa iz;qDr lekl gSA 

      (A) deZ rRiq:"k (B) viknku rRiq:"k  

      (C) lEiznku rRiq:"k  (D) lEcU/k rRiq:"k  

36. euq"; dh gj rjg dh csgrjh ds fy, bZekunkj 

dksf’k’ksa dh gSaA okD; esa js[kkafdr fd, x, 

fo’ks"k.k dk miHksn crkb,A  

      (A) voLFkk cks/kd  (B) fLFkfr cks/kd  
      (C) n’kk cks/kd       (D) xq.k cks/kd  

37. ^ifjiDo* dh Hkkookpd laKk gSa& 

      (A) ifjiDou    (B) ifjiDork   
      (C) ifjiw.kZ         (D) ifjiw.kZrk   

38. fuEufyf[kr esa ls dkSu&lk 'kCn ^lkfUu/;* dk 

lekukFkZd  gSa\ 

      (A) leiZ.k       (B) lfUuikr   
      (C) lokZf/kd       (D) lehirk   

39. fuEufyf[kr esa ls dkSu&lk ^ns’kt* 'kCn gS& 

      (A) [kaxky       (B) t:jr   
      (C) lEHkor%       (D) uhfr  
funsZ’k&¼iz’u 40 ls 45 rd½% dfork dh iafDr;k¡ i<+dj 

iz’uksa ds lcls mfpr fodYi pqfu,A 

 

Fkdk&gkjk lksprk eu&lksprk euA 

my>rh gh tk jgh gS ,d my>u  

va/ksjs esa va/ksjs ls dc ryd yM+rs jgs 

lkeus tks fn[k jgk gS] og lPpkbZ Hkh dgsaA 

HkhM+ va/kksa dh [kM+h [kq’k jsoM+h [kkrh  

va/ksjs ds b’kkjksa ij ukprh&xkrhA 

Fkdk gkjk lksprk eu&lksprk euA 

Hkw[kh I;klh dkukQwlh ns mBh nLrd  

va/kk cu tk >qdk ns re&}kj ij eLRkd 

jsoM+h dh ck¡V esa rw jsoM+h cu tk 

frfej ds njckj esa njcku&lk ru tkA 

Fkdk gkjk] mBk xnZu&tw>rk eu 

nwj&my>u! nwj my>u! nwj my>u! 

py [kM+k gks iSj esa ;fn yx xbZ Bksdj 

[kM+k gks la?k"kZ esa fQj jks’kuh gksdj 

e`R;q Hkh ojnku gS la?k"kZ esa I;kjs 

lR; ds la?k"kZ esa D;ksa jks’kuh gkjsA 

ns[krs gh ns[krs re rksM+rk gS ne 

vkSj lwjt dh rjg ge Bksadrs gSa [keA   
40.  Fkds gkjs eu dh my>u D;k gSa\ 

      (A) va/kks dh HkhM+ esa [kM+s jguk        
      (B) e`R;q ls Hk;   
      (C) iSj esa Bksdj ls         

    (D) va/ksjs esa va/ksjs ls yM+uk   



 

 

8 

41.  va/ksjs esa va/kksa dh HkhM+ [kq’k D;ksa gS\     

      (A) D;ksafd ogk¡ lHkh va/ks gSa        
      (B) D;ksafd ogk¡ lHkh >wBs gSa   
      (C) D;ksafd lHkh jsoM+h [kk jgsa gSa         

    (D) D;ksafd lHkh ukp&xk jgsa gSa   

42.  lR; ds la?k"kZ esa fot; fdls feyrh gS\     

      (A) va/ksjs dks         (B) e`R;q dks   
      (C) jks’kuh dks     (D) eu dks   

43.  lPpkbZ fdl laf/k dk mnkgj.k gS\     

      (A) folxZ laf/k  (B) ;.k laf/k   
      (C) nh?kZ laf/k      (D) O;atu laf/k   

44.  frfej dk i;kZ;okph ugha gSa&     

      (A) va/kdkj  (B) va/ksjk   
      (C) nuqt        (D) re   

45.  Hkw[k&I;kl esa dkSu lk lekl gSa\     

      (A) }a}       (B) f}xq   
      (C) rRiq#"k       (D) deZ/kkj;   

46.  ifjokj esa iz;ksx dh tkus okyh Hkk"kk vkSj 

fo|ky; esa iz;ksx dh tkus okyh Hkk"kk&     

      (A) lnSo vyx gksrh gSa (B) lnSo leku gksrh gSa 
      (C) leku gks ldrh gSa(D)leku gksuh pkfg,  

47.  Hkk"kk vftZr djus dh izfØ;k esa lcls egRoiw.kZ 

LFkku gS&     

      (A) lapkj lk/kuksa dk (B) lkekftd var% fØ;k dk  
      (C) okpu dkS’ky dk  (D) cky lkfgR; dk  

48.  ikB~;iqLrd Hkk"kk f’k{k.k esa viuk egRoiw.kZ LFkku 

j[krh gS] blds dqN mís'; gSA fuEu esa ls 

ikB~;iqLrd dk mn~ns’; gS&     

      (A) Kku dh lhek dks c<+krh gSA        
      (B) dYiuk 'kfDr dk fodkl djrh gSA   
      (C) fofHkUu 'kSfy;ksa dk fodkl ugha djrhA            
    (D) A o B nksuksaA   

49.  fdl fo/kk ds f’k{k.k ds le; vki ekSu iBu dks 

egRo nsaxs\     

      (A) laoknkRed dgkuh   (B) dfork   
      (C) ,dkadh          (D) fuca/k   

50.  Hkk"kk&f’k{k.k dk laizs"k.kkRed mikxe fdl ij cy 

  nsrk gS\     

      (A) Hkkf"kd lajpukvksa dh tkudkjh ij cy nsrk 

 gSA          
      (B) lanHkZ esa Hkk"kk&iz;ksx dh dq’kyrk ij cy 

 nsrk gSA   

      (C) ekr`Hkk"kk&iz;ksx dk fu"ks/k djrk gSA          
    (D) ^cksyuk* dkS’ky ij cy nsrk gSA   

51.  f’k{k.k dkS’ky ds fuekZ.k gsrq f’k{kd dks   

  fuEufyf[kr fcanq ij /;ku ugha nsuk pkfg,&     

      (A) f’k{k.k fcUnqvksa dk Øe fuf’pr djukA       
      (B) lw{e fopkjksa dks LFkwy :Ik iznku djukA  
      (C) Nk=ksa dk iwoZ KkuA         

    (D) LFkwy fopkjksa dks lw{e :Ik iznku djukA  

52.  cPpksa dh Hkk"kk&lEcU/kh Øfed izxfr dk  

  ys[kk&tks[kk j[kuk---------------ls laHko gSA     

      (A) iksVZQksfy;ks  (B) mRrj&iqfLrdkvksa  
 (C) fyf[kr ijh{kk   (D) ekSf[kd ijh{kk  

53.  vfHkHkkod&f’k{kd var% fØ;kvksa dks miyC/k  

  djkus dk eq[; mn~ns’; gS&     

      (A) ,d nwljs dh dfe;ksa dks mtkxj djukA      
 (B) fo|ky; esa gks jgs fØ;kdykiksa ds ckjs esa  
      tkudkjh lk>k djuk   
      (C) iqucZyu vkSj lq/kkj ds fy, cPps dh 

 ;ksX;rkvksa vkSj detksfj;ksa ds ckjs esa ppkZ djuk       

 (D) ,d nwljs ds lkFk lkekftd lEcU/k fodflr  
       djuk   

54.  Hkk"kk ds fofHkUu dkS’kyksa dks------------:Ik esa  

  i<+kus dh vuq’kalk dh tkrh gSA     

      (A) Øfed       (B) ,dhd`r   
      (C) mPp        (D) fuEu   

55.  iBu dkS’ky esa lokZf/kd /;ku fn;k tkuk pkfg,&     

      (A) lgh y;] xfr ,oa izokg dk        
      (B) xaHkhj fopkj ,oa fo’ys"k.k ij   
      (C) lgh vFkZ xzg.k ij         

    (D) lgh vkSj ekud mPpkj.k ij   

56.  Hkk"kk dkS’ky ds izdkj gksrs gSa&     

      (A) nks        (B) pkj   
      (C) rhu        (D) ik¡p   

57.  eqgkojs vkSj yksdksfDr;ksa dk iz;ksx djuk&     

      (A) O;kdj.k dk izeq[k fgLlk gSA        
      (B) fgUnh Hkk"kk&f’k{k.k dk lcls egRoiw.kZ 

 mn~ns’; gSA   

      (C) Hkkf"kd vfHkO;fDr dks izHkkoh cukrk gS          

    (D) dsoy x| ikBksa ds vH;klksa dk fgLlk gS  

58.  dgkuh lquus ls &     

      (A) cPpksa dh dYiuk 'kfDr o fpUru 'kfDr dk  
       fodkl gksrk gSa        
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      (B) cPps izlUu gksrs gSaA   
       (C) cPps d{kk esa ,dkxzfpr gksdj 'kkUr cSBrs 

 gSaA          

    (D) cPps vuq’kkflr jgrs gaSA   

59.  funkukRed f’k{k.k esa f’k{kd ds fy, lcls de  

  egRoiw.kZ gksxk&     

      (A) =qfV;ksa ds ckjs esa fo’ys"k.kkRed n`f"Vdks.k  
      viuk;k tk,        
      (B) f’k{kkFkhZ ds lkFk viuh U;wurkvksa dk Hkh irk  

      yxk,¡   
      (C) f’k{k.k ds fy, vkReh; vkSj lnO;ogkj 

 viuk,¡          

    (D) f’k{kkfFkZ;ksa dh fo’ks"k vko’;drkvksa dks 

 mtkxj djsaA   

60.  Hkk"kk&f’k{k.k esa ikB~;&iqLrd&     

      (A) vuko’;d gS  (B) ,dek= lalk/ku gSA  
  (C) lk/; gS      (D) lk/ku gS  
 

Language 2 (English) 
 

Directions: (Quetions 61-68)- Read the 

following passage carefully and answer the 

questions that follow:- 

1. The buzz in the street was like the 

humming of flies. Photographers stood 

massed behind barriers patrolled by 

police, their long snouted cameras pois-

ed, their breath rising like steam, snow 

fell steadily on to hats and shoulders, 

gloved fingers wiped lenses clear. From 

time to time there came outbreaks of 

desultory clicking, as the watchers filled 

the waiting time by snapping the white 

canvas tent in the middle of the road, the 

entrance to the tall red brick apartment 

block behind it, and the balcony on the 

top floor from which the body had 

fallen. 

2. Behind the tightly packed paparazzi sto-

od white vans with enormous satellite 

dishes on the roofs and Journalists 

talking, some in foreign languages while 

soundmen in head phones hovered. 

Between recordings, the reporters 

stamped their feet and warmed their 

hands on hot beakers of coffee from the 

teeming cafe a few steets away. To fill 

the time, the woolly–hatted cameramen 

filmed the backs of the photographers, 

the balcony, the tent concealing the 

body, then repositioned themselves for 

wide shots that encompassed the chaos 

that had exploaded inside the sedate and 

snowy Mayfair street with its lines of 

glossy black doors framed by white 

stone porticos and flanked by topiary 

shrubs.  

3. The entrance tonumber 18 was bounded 

with tape. Police officials, some of them 

white–clothed forensic experts, could be 

glimpsed in the hallway beyond. The 

television stations already had the news 

for several hours. Members of the public 

were crowding at either end of the road, 

held at bay by more police, some had 

come, on purpose, to look, others had 

paused on their way to work. Many held 

mobile telephones aloft to take pictures 

before moving on. One young man, not 

knowing which the crucial balcony was, 

photographed each of them in turn, even 

though the middle one was packed with 

a row of shrubs, three neat leafy orbs, 

which barely left room for a human 

being.  

 Extracted from: The Cuckoo's Calling 

by Robert Galbraith .    

61. What can be said about the weather 

from the first paragraph ? 

(A) Cold  (B) Warm 

(C) Rainy  (D) Cannot say 

62. Why are the camramen filling their 

time ? 

(A) The police had blocked them  

(B) The weather was interfering with 

their camera. 

(C) They didn't have anything to shoot. 

(D) They had faulty equipments. 

63. What kind of people could be seen at 

the site ? 

(A) Police  (B) Journalists 
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(C) Regular people 

(D) All of the above 

64. Why was the 'young man' clicking 

pictures of all the balconies. 

(A) He was bored.    

(B) He had space to spare in his device 

(C) He didn't know which was the 

specific balcony     

(D) He was spying on other people. 

65. What had happened at the scene ? 

(A) There was a celebrity event   

(B) It was a wedding 

(C) Someone had jumped from the 

balcony    

(D) The building was going to be 

demolished 

66. Which of the following words can be 

used to describe the scene in the 

passage. 

(A) Chaotic  (B) Tense 

(C) Supresses (D) Ordered 

67. Which literary device is used in 'The 

buzz in the street was like the humm-

ing of flies' ? 

(A) Alliteration (B) Simile 

(C) Imagery  (D) Irony  

68. Find the word from the passage which 

means the same as 'lacking in consis-

tency'. 

(A) Outbreaks (B) Teeming 

(C) Porticos  (D) Desultory 

Directions: (Quetions 69-75)  Read the 

passage carefully and answer the questions 

that follow :- 

 The modern youth are more intelligent 

and hard working than the previous 

generations, they have more facilities 

facilities for education and they do utilise 

them but they lack proper direction. In the 

absence of proper guidance, young boys and 

girls go on increasing their academic 

qualifications. Some of them secure high 

percentage of marks whereas most of them 

get average or below average marks. Since 

the number of aspirants for a job is much 

higher than the number of vacancies, most of 

the young boys and girls do not get any 

employment. This causes the problem of the 

educated unemployment and depression 

among the youth. 

 The problem of the educated unemp-

loyed can be solved partly through proper 

guidance and counseling and partly through 

grooming. Young students often disregard 

the advice of their parents and go on 

imitating their peers. This sets in the chain of 

the blind leading the blind, Uneducated or 

semi-educated parents think of academic 

qualification as achievement. Young students 

must seek the advice of the school counselors 

and select a course of study that suits their 

aptitude. Instead of pursuit of academic 

exellence they must go in for proficiency in 

technical field of information technology 

computers, biotechnology, biochemistry and 

consumer services. In this way their youthful 

energy will get directed in the proper channel 

and they may get fruitful employment or 

become competent enough to launch their 

own project and give emplogyment to others.     

69. What is the positive aspect of today's 

generation ? 

(A) They are more intelligent and 

hardworking    

(B) They are more into fashion and time 

pass  

(C) They have the power to work less and 

get more    

(D) The youth now knows what he has to 

do. 

70. Academic qualification is seen as an 

achievement which adds to the 

problem due to  

(A) Uneducated or semi-educated 

parents    

(B) Increase in the urge of getting 

higher remunerations. 

(C) Lack of focus and attention  

(D) Disillusionment and depression. 

71. Suggest a suitable title for this extract. 

(A) Educated unemployed   

(B) Education – a revolution 
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(C) Fight for power    

(D) Professionalism 

72. The synonym for 'cautioned' is. 

(A) Ignorance (B) Warned 

(C) Prudence (D) Discretion  

73. Many young boys and girls do not get 

employment. 

(A) Because they are not thorough 

with their subjects    

(B) Lack of  guidance and knowledge 

(C) Number of aspirants out number 

the vancancies   

(D) Recession. 

74. Opposite word for proficiency is- 

(A) Incompetence(B) Expertise 

(C) Skill  (D) Formula 

75. Which type of noun is the word- 

problem. 

(A) Common Noun(B) Proper Noun 

(C) Abstract Noun(D) Collective Noun 

76. In the Enquiry Based language class- 

(A)  Language learning aptitude refers to 

the prediction of how well, relative to 

other individuals can learn a foreign 

language in a given amount of time 

and under given conditions.   

(B)  Focuses on the use of authentic 

language, and students doing meaning 

ful tasks using the target language. 

(C)  learnning is driven by challenging 

open-ended problems, students work in 

small collaborative groups and 

teachers take on the role as facilitators 

of learning.   

(D)  Uses of classroom projects, intended to 

bring about deep learning, where 

students use technology to engage with 

issues and questions that are relevant 

to their lives. 

77. An anecdote is a - 

 (A) Narrative that relates the details of 

some real or imaginary  incident .  

(B) Short account of a particutar incident or 

event. 

(C) Non-historical or unverifiable story 

handed down by tradition. 

(D) Daily record, usually private, especi-

ally of the writer's own experiences, 

observations, feelings, attitudes. 

78. While writing, 'ellipses' is a  

(A) Phrasal verbs (B) Semantic linker 

(C) Adjectival form    

(D) Prepositional phrase. 

79. A child-centered classroom is chara-

cterized by. 

(A) Children sitting in the centre of the 

classroom.    

(B) Children teaching other children 

under the supervision of the 

teacher. 

(C) Very passive teachers and active 

learners.    

(D) A variety of learning activities for 

the learners. 

80. A mixed ability group is heterogen-

eous in....................  

(A) Gender and age(B) Social strata 

(C) Knowledge and skill   

(D) economic status. 

81. Discipline in the class is best ensured 

when. 

(A) The teacher makes effective use of 

teaching aids.    

(B) Students are equal partner in the 

teaching learning process. 

(C) The teacher is sure of his know-

ledge.    

(D) The lesson has plenty of humor 

82. Direct method is also known as - 

(A) Indirect method    



 

 

12 

(B) Inductive Method 

(C) Natural Method    

(D) Deductive Method 

83. Language acquisition.............. 

(A) Requires the memorization and use 

of necessary vocbulary. 

(B) Involves a systematic approach to 

the analysis and comprehension 

of grammar as well as the 

memorization of vocabulary. 

(C) Refers to the process of learning a 

native or second lenguage bec-

ause of the innate capacity of the 

human brain.    

(D) Is a technique intended to simu-

late the environment in which 

children learn their native 

language. 

84. Which one of the following appro-

aches states that the students demo-

nstrate their comprehension by acting 

out the commands issued by the 

teacher. 

(A) Grammar translation method  

(B) Direct method 

(C) Audio – lingval method   

(D) Total physical response method. 

85. What is a siginficant part of listening – 

speaking. 

(A) Speaking  (B) Understanding  

(C) Receiving information   

(D) Listening  

86. Which of the following was traditio-

nally the base of language teaching. 

(A) Sound teaching    

(B) Meaning teaching 

(C) Grammar teaching    

(D) Sentence teaching 

87. Scribbling is a stage of . 

(A) Listtening (B) Writing 

(C) Reading  (D) Speaking 

88. In linguistics, the study of word 

structures is known as . 

(A) Grammar (B) Punctuation 

(C) Analogy  (D) Morphology 

89. The full form of LAD is:- 

(A) Language Alphabet Device   

(B) Language Access Data 

(C) Language Acquisition Device  

(D) Language Access Device 

90. Which type of the following grammar 

is taught incidentally ? 

(A) Formal  (B) Traditional 

(C) Functional (D) Theoretical 

Hkk"kk&2 ¼laLd`r½ 

61- ^vuq'kklue~* ins milxZ% vfLr & 

(A) vuq   (B) Y;qV~ 
(C) vkuq  (D) vuq% 

62- mi $ dkj% ¾ \ 

(A) mRgkj%  (B) m)kj% 
(C) mRdkj%  (D) midkj% 

63- ^laLd`r%* v= milxZ% vfLr 

(A) l   (B) l% 
(C) le~   (D) lal~ 

64- ^izfri{k%* vf:eu~ ins milxZ% vfLr & 

(A) ifj   (B) i{k% 
(C) izfr   (D) iz 

65- ^mi* milxZ fufeZr% 'kCn% ukfLr & 

(A) midkj%  (B) minzo% 
(C) migkj%  (D) mij% 

66- ^voufr%* ins milxZ% vfLr & 

(A) vo   (B) ufr% 
(C) vko  (D) fr% 

67- ^fu'p;%* ins milxZ% vfLr & 

(A) ful~  (B) fu 
(C) p;%  (D) fun~ 

68- ^nq"deZ%* ins milxZ% vfLr & 

(A) nqj~   (B) nql~ 
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(C) nq"k~   (D) nwj 
69- ^oh{;* bR;= d% milxZ% \ 

(A) fo   (B) oh 
(C) oh{k~  (D) foj~ 

70- 'kq)efLr & 

(A) vkxE;  (B) vxE; 
(C) vxR;  (D) vkeRo 

71- ^xe~* /kkrq d% mnkgj.k vfLr\ 

(A) ifjJE;  (B) ifjJkUre% 
(C) ifjJ;%  (D) ijhxE; 

72- ^fujh{;* bR;= d% milxZ% \ 

(A) fu   (B) fuj~ 
(C) fu%   (D) fujh 

73- ^vknk;* bR;= d% izR;;% \ 

(A) Y;i~  (B) vk 
(C) vknk  (D) vke~ 

74- milxZ% vfLr & 

(A) ue~   (B) vfjo 
(C) vfu  (D) vfr 

75- milxZ% uSo orZrs & 

(A) vf/k  (B) izfr 
(C) vuq   (D) vfo 

76- ^mRFkk;* bR;= d% milxZ% \ 

(A) mr~   (B) mfr 
(C) mi~   (D) mRFkk 

77- milxZ% uSo orZrs & 

(A) iz   (B) fo 
(C) fu"k~   (D) fuj~ 

78- milxZ% vfLr & 

(A) lq   (B) fod~ 
(C) vu~   (D) le 

79- milxZ% vfLr & 

(A) vo   (B) vi~ 
(C) vo~   (D) mi~ 

80- ^iz.kefr* bR;= d% milxZ% \ 

 (A) iz   (B) iz.k 
(C) izfr   (D) iz.ke 

81- xq.klfU/k;qra 'kCne~ vfLr & 

(A) egsUnz%  (B) bR;kfn% 
(C) Jh'k%  (D) iou% 

82- ^vd% lo.ksZ nh?kZ%* lw=efLr & 

(A) O;tu lU/ks% (B) Loj lU/ks% 
(C) folxZ lU/ks% (D) ;.k~ lU/ks% 

83- xq.klaKkfo/kk;d lw=fxn orZrs & 

(A) bdks xq.ko`f) (B) vnsM~xq.k% 
(C) vkn~xq.k%  (D) LFkkus∙Urjre% 

84- }U} leklL; mnkgj.kefLr & 

(A) iapxaxe~  (B) galkS 
(C) lIr"kZ;%  (D) n'kkuu% 

85- ^ihroL=e~* bR;= d% lekl% \ 

(A) vO;;hHkko%  (B) rRiq#"k% 
(C) deZ/kkj;%  (D) cgqozhfg% 

86- vfFkZu~ bR;= d% izR;;% \ 

(A) vFkZ $ bZu~ (B) vFkZ $ buke 

(C) vFkZ $ bu~ (D) vFkZ $ bfu 

87- yC/kqe~ bR;= d% izR;;% \ 

(A) yc~ $ rqe~  (B) yHk~ $ rqe~ 
(C) yHk~ $ rqequ~ (D) ykHk $ rqequ~ 

88- n`"V~ok bR;= d% izR;;% \ 

(A) n`'k~ $ Dr  (B) n`'k~ $ DRok 
(C) n`'k~ $ rqequ~ (D) n`'k~ $ Ro 

89- lkekftda bR;= d% izR;;% \ 

(A) lekt $ Bd~ (B) lkekt $ Bd~ 
(C) lekt $ bd (D) lkekt~ $ bd~ 

90- ,sfrgkfld bR;= d% izR;;% \ 

(A) ,sfrgkl $ Bd~ (B) bfrgkl $ Bd~ 
(C) bfrgkl $ bd (D) ,sfrgkl $ bd 
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MATHEMATICS 
91. In education and psychology which 

method is used to indentify gifted 

chidren. 
(A) Intelligence test  (B) Achievenent test 

(C) Teacher's observations 

(D) All of these 

92. Which work saves the time and effort 

through omission of certain steps. 

(A) Home work (B) Oral work 

(C) Written work (D) Drill work 

93. Which is problem–centred and democ-

ratic technique ? 

(A) Brain storming (B) Home work 

(C) Drill work (D) All of these 

94. Heuristic is derived from greek word 

which means. 

(A) To know (B) To plan 

(C) To discover (D) To think. 

95. In analytic method, we proceed from. 

(A) Unknown to known    

(B) Particular to general 

(C) Known to unknown    

(D) Concrete to abstract 
96. Through which test weaknesses of the 

student in the subject are revealed to 

some extent ? 

(A) Remedial Testing(B) Diagnostic test 

(C) Interview             (D) None of these 

97. What is the language of mathematics ? 

(A) Concepts (B) Terminology 

(C) Symbols          (D) All of the above 

98. According to ................, "Evaluation is 

any systematic and contnuous process 

of determining". 

(A) Goods   (B) Kothari commission 

(C) NCERT   (D) Tanner 

99. Which of the following is shortcoming 

of conventional curriculum of mathe-

matics ? 

(A) The approach in curriculum 

construction is not pragmatic.   

(B) It is unbehavioural and theoretical 

(C) It is written in examination    

(D)It has no interest between pupil and 

curriculum. 

xf.kr 
 

91- f'k{k.k vkSj euksfoKku esa] izfrHkk'kkyh cPpksa dh 

igpku djus gsrq fdl i)fr dk mi;ksx fd;k 

tkrk gS\ 

 (A) cqf)&ijh{k.k  

 (B) dk;Z laiknu ijh{k.k 

 (C) f'k{kd dk voyksdu(D) ;s lHkh 

92- dkSu lk dk;Z fuf'pr pj.kksa ds yksi ds ek/;e 

ls le; rFkk iz;kl dh cpr djrk gS\ 

 (A) x`gdk;Z  (B) ekSf[kd dk;Z 

 (C) fyf[kr dk;Z (D) vH;kl dk;Z 

93- dkSu&lh leL;k dsfUnzr vkSj yksdrkaf=d rduhd 

gS\ 

 (A) fopkj eaFku (B) x`g dk;Z 

 (C) vH;kl dk;Z (D) ;s lHkh 

94- g~;wfjfLVd xzhd 'kCn ls O;qRiUu gqvk gS] ftldk 

vFkZ gS& 

 (A) tkuuk  (B) ;kstuk cukuk 

 (C) [kkst djuk  (D) lkspuk 

95- fo'ys"k.kkRed fof/k esa ge vkxs c<+rs gSa& 

 (A) vKkr ls Kkr (B) fo'ks"k ls lkekU; 

 (C) Kkr ls vKkr (D) ewrZ ls vewrZ 

96- fdl ijh{k.k ds ek/;e ls fo"k; esa Nk= dh 

detksfj;ksa dk dqN gn rd irk yxk;k tk 

ldrk gSA  

 (A) mipkj ijh{k.k (B) uSnkfud ijh{k.k 

 (C) lk{kkRdkj  (D) buesa ls dksbZ ugha 

97- xf.kr dh Hkk"kk D;k gS\ 

 (A) vo/kkj.kk,a  (B) 'kCnkoyh 

 (C) izrhd  (D) Åij ds lHkh 

98- ---------------ds vuqlkj] ^^ewY;kadu fu/kkZj.k dh 

O;ofLFkr vkSj lrr izfØ;k gSA** 

 (A) xqM~l  (B) dksBkjh vk;ksx 

 (C) ,ulhbZvkjVh (D) VUuj 

99- fuEu esa ls dkSu lk xf.kr ds ikjaifjd ikB~;Øe 

dh ,d deh gSa\ 

 (A) ikB~;Øe fuekZ.k esa n`f"Vdks.k O;kogkfjd ugha 

 gSaA    

 (B) ;g vO;ogkfjd vkSj lS)kafrd gS 

 (C) ;g ijh{kk esa fyf[kr gS    

 (D) blesa f'k"; vkSj ikB~;Øe ds chp dksbZ #fp 

 ugha gSA 
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100. Which of the following is not a 

responsible factor for mathematical 

anxiety ?  

(A) Nature of the subject    

(B) Examination system 

(C) Gender  (D) Curriculum 

101. Who said that "Mathematics is the science 

which draws necessary concl-usions" ? 

(A) Hogben    (B) John Locke 

(C) Benjamin pierce(D) Bracken 

102. The ground of race means. 

(A) Education chronicle    

(B) Curriculum 

(C) Education chronicle and syllabus  

(D) None of these 

103. Final step of teaching process is. 

(A) Evaluation (B) learning 

(C) Objective  (D) Compliance 

104. The rules of Mathematics are. 

(A) Objective  (B) Universal 

(C) Objective and universal both  

(D) None of these 

105. Audio material includes. 

(A) T.V.  (B) Gramophone 

(C) Blackboard (D) Toy 

106. 750 ml juice is filled in one bottle and six 

such bottles are packed in one carton. The 

number of cartons needed for 450 litres of 

juice is. 

(A) 75   (B) 80      (C) 90     (D) 100 

107. Sania bought a battery and she read on it 

'Life 4200 hours' she uses it through-out 

day and night. How many weeks will the 

battery run ? 

(A) 28     (B) 25     (C) 24      (D) 21 

108. How many 4 digit numbers are there in 

the hindu-Arabic numeration system? 

(A) 99  (B) 8999 (C) 9999  (D) 9000 

109. The H.C.F. of two numbers is 10 and 

their L.C.M. is 420. If one of the 

numbers is 60, then the other is - 

(A) 60    (B) 42     (C) 70      (D) 420 

110. Given - 

  7 y 

  x 6 

  yyy 

Then value of y is- 

(A) 6 (B) 4       (C) 2 (D) 8 

100- fuEu esa ls dkSu lk xf.krh; fpUrk ds fy, 

ftEesnkj dkjd ugha gS \ 

 (A) fo"k; dh izd`fr (B) ijh{kk iz.kkyh 

 (C) fyax  (D) ikB~;Øe 

101- fdlus dgk fd] ^^xf.kr og foKku gS tks 

vko';d ifj.kke fudkyrk gS** \  

(A) gkWxcsu  (B) tkWu ykWd 

(C) castkfeu ih;lZ (D) czSdu 

102- nkSM+ ds eSnku ls vfHkizk; gS% 

(A) f'k{kkØe  (B)ikB~;Øe 

(C) f'k{kkØe ,oa ikB~;Øe(D) buesa ls dksbZ ugha 

103- f'k{k.k izfØ;k dk vkf[kjh pj.k gS%& 

 (A) ewY;kadu   (B) vf/kxe 

 (C) mís';  (D) vuqikyu 

104- xf.kr ds fu;e gksrs gS% 

 (A) oLrqfu"B   (B) lkoZHkkSfed 

 (C) oLrqfu"B o lkoZHkkSfed nksuksa  

 (D) buesa ls dksbZ ugha 

105- JO; lkexzh esa lfEefyr gS% 

 (A) Vhoh  (B) xzkeksQksu 

 (C) ';keiê  (D) f[kykSuk 

106- ,d cksry esa 750 feyh twl Hkjk tkrk gS vkSj 

,slh 6 cksryksa dks ,d dkVZu esa iSd fd;k tkrk 

gSA 450 yhVj twl ds fy, vko';d dkVZuksa dh 

la[;k gS& 

 (A) 75    (B) 80    (C) 90 (D) 100 

107- lkfu;k us ,d cSVjh [kjhnh ftl ij mlus i<+k 

^thoudky 4200 ?kaVs*A og mls fnu&jkr iz;ksx 

djrh gSA cSVjh dqy fdrus lIrkg pysxh \ 

 (A) 28    (B) 25    (C) 24    (D) 21 

108- fgUnw&vjch la[;ku i)fr esa 4 vadks dh fdruh 

la[;k gSa\ 

 (A) 99   (B) 8999  (C) 9999  (D) 9000 

109- nks la[;kvksa dk e-l- 10 gS vkSj mudk y-l- 

420 gSA ;fn la[;kvksa esa ls ,d la[;k 60 gS] 

rks nwljh la[;k Kkr djsaA 

 (A) 60 (B) 42  (C) 70 (D) 420 

110- fn;k gS& 

  7 y 

  x 6 

  yyy 
rc y dk eku gS& 

 (A) 6    (B) 4 (C) 2   (D) 8 
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111. What is two third of half of 369 ? 

(A) 123  (B) 128    (C) 177    (D) 233 

112. Find the supplementary angle of 800.  

(A) 100  (B) 1000  (C) 1800    (D) 2800 

113. Mohan told her mother that he has 

saved eleven thousand eleven hundred 

eleven rupees. This amount is- 
(A) 1111(B) 12111 (C) 111111 (D) 11121 

114. Which of the following is not a prime 

number? 

(A) 103   (B) 277    (C) 199   (D) 285 

115. What is Value of 21gm 980mg÷7= ? 

(A) 4 gm 140 mg (B) 3.014 gm 

(C) 3.14 gm  (D) 31.40 gm 

116. Three numbers are in the ratio of 3:4:5 

and their LCM is is 2400. Their HCF 

is. 

(A) 40  (B) 80      (C) 120    (D) 200 

117. How many quarters are there in 12
3

4
 ? 

(A) 75    (B) 72     (C) 51      (D) 68 

118. The average weight of x,y and z is 60 

kg. If the average weight of x and y be 

48 kg and that of y and z be 65 kg, 

then the weight of y is: 

(A) 47 kg(B) 48 kg(C) 43 kg(D) 46 kg. 

119. 𝑥5 − 2𝑥3 + 6𝑥 − 28 is divisible by- 

(A) x + 2 (B) x + 3   (C) x – 2  (D) x - 3 

120. If 8 dozen bananas cost Rs. 360, Then 

how many bananas can be bought in 

Rs. 60 ? 

(A) 16    (B) 48     (C) 32    (D) 50 

ENVIROMENT STUDIES 
121. ..........is the primary institution for the 

socialisation of children.?  

(A) Kindergarten (B) Friends 

(C) Family  (D) School 

122. What is the basic unit of society ? 

(A) Children  (B) Adult 

(C) Government (D) Family 
123. The aims and objectives of wildlife 

management in India includes .............. 

(A) Protection of natural habitats.  

(B) maintenance of number of species 
(C) establishment of biosphere reserves 

(D) All of the above 
 

111- 369 ds vk/ks dk 2@3 fdruk gksxk \ 

 (A) 123   (B) 128    (C) 177  (D) 233 

112- 800 dk laiwjd dks.k Kkr dhft,A 

 (A) 100     (B) 1000  (C) 1800  (D) 2800 
113- eksgu us viuh ek¡ ls dgk fd mlus X;kjg gtkj 

X;kjg lkS X;kjg :i;s cpk, gSaA ;g jkf'k gS& 

 (A) 1111(B) 12111  (C) 11111 (D) 11121 

114- fuEufyf[kr esa ls dkSu ,d vHkkT; la[;k ugha gS\ 

 (A) 103   (B) 277     (C) 199   (D) 285 

115- fuEu dk eku D;k gksxk & 21 xzke 980 

feyhxzke ÷7= ? 

(A) 4 gm 140 mg (B) 3.014 gm 

(C) 3.14 gm  (D) 31.40 gm 

116- rhu la[;k 3%4%5 ds vuqikr esa gSa vkSj mudk 

y-l- 2400 gSA mudk e-l- gS% 

 (A) 40    (B) 80    (C) 120   (D) 200 

117- 12
3

4
 esa fdrus pkSFkkbZ Hkkx gSa\ 

 (A) 75     (B) 72    (C) 51 (D) 68 

118- x,y vkSj z dk vkSlr otu 60 fd-xzk- gSA ;fn  

x vkSj y dk vkSlr otu 48 fd-xzk- gS rFkk y 

vkSj z dk otu 65 fd-xzk- gS] rks y dk otu 

Kkr djsa% 

 (A) 47 fd-xzk-  (B) 48 fd-xzk- 

 (C) 43 fd-xzk-  (D) 46 fd-xzk- 

119- 𝑥5 − 2𝑥3 + 6𝑥 − 28 fdlls foHkkT; gS\ 

(A) x + 2 (B) x + 3  (C) x – 2 (D) x – 3 

120- ;fn 8 ntZu dsyksa dk ewY; 360 :i;s gks] rks 

60 :i;s esa fdrus dsys [kjhns tk ldrs gSa\ 

 (A) 16     (B) 48    (C) 32 (D) 50 

i;kZoj.k v/;;u 

121- ---------------cPpksa ds lkekthdj.k ds fy, 

izkFkfed laLFkk gS\ 

 (A) okyokM+h  (B) nksLr 

 (C) ifjokj  (D) Ldwy 

122- lekt dh cqfu;kfn bdkbZ D;k gS\ 

 (A) cPps  (B) o;Ld 

 (C) ljdkj  (D) ifjokj 

123- Hkkjr esa oU;thou izcU/ku ds y{; vkSj mís';ksa esa--

------------- 

 (A) izkd`frd fuokl dk laj{k.k  

 (B) dqN la[;k ds iztkfr;ksa dk j[kj[kko 

 (C) ck;ksfLQ;j HkaMkj dh LFkkiuk   

 (D) mijksDr lHkh 
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124. Photosynthesis generally takes place in 

whih parts of the plant ? 

(A) Stem and leaf  
(B) leaf and other chloroplast bearing parts 

(C) Roots and chlorplast bearing parts  

(D) Bark and leaf 

125. Animals are ..................organisms. 

(A) Unicellular (B) Tricellular 

(C) Multicellular (D) Bicellular 

126. As per NCF, learning of EVS at primary 

level can be promoted by. 

(A) Observation, Prediction and Measu-

rement     

(B) Memorizing the facts 
(C) Learning concepts in detail  

(D) Teacher centered method of teaching 

127. Night blindness is oused by lack of which 

Vitamin ? 

(A) Vitamin A (B) Vitamin B 

(C) Vitamin C (D) Vitamin D 

128. Vitanins are substances - 

(A) reqiured as medicines to make us 

healthy.    

(B) That build muscles to keep us strong 

(C) required in small quantities to prevent 

deficiency diseases.   

(D) that increase our metabolic rate 

leading to loss of weight. 

129. The other name of Vitamin A is. 

(A) Riboflavin (B) Retinol 

(C) Pyridoxine (D) Thiamine 

130. The shelter of hen is- 

(A) Stable (B) Sty  (C) Coop  (D) Burrow 

131. Aim of asking probing questions in the 

class is to enhance the............skills of 

students. 

(A) Social  (B) Emotional 

(C) Thinking  (D) Listenig 

132. The walls of the houses of cold desert 

areas of laddakh coated with. 

(A) Mud and lime   (B) Mud or cow dung 

(C) Cow dung only  (D) Paint 

133.  What is the main objective of EVS  

education ? 

(A) Awareness of the environment and its 

problem.    

(B) A sense of responsibility towards envir-

onment 

(C)   Skills to solve environmental problems. 

(D)   All of the above. 

124- izdk'k la'ys"k.k vke rkSj ij ikS/ks ds fdu Hkkxksa esa 

gksrk gS\ 

 (A) ruk vkSj iRrksa esa  

 (B) iRrksa vkSj vU; DyksjksIykLV okys Hkkxksa esa 

 (C) tM+ksa vkSj DyksjksIykLV okys Hkkxksa esa  

 (D) Nky vkSj iRrksa esa  

125- i'kq -----------------tho gSaA 

 (A) ,ddksf'kdh;  (B) f=dksf'kdh; 

 (C) cgqdksf'kdh;  (D) f}dksf'kdh;  

126- ,u-lh-,Q ds vuqlkj] izkFkfed Lrj ij bZ-oh-,l 

vf/kxe dks c<+kok fn;k tk ldrk gSA 

 (A) voyksdu] iwoZlwpuk vkSj ekiu   

 (B) rF;ksa dks ;kn djuk 

 (C) vo/kkj.kkvksa dks foLrkj ls lh[kuk  

 (D) v/;k;u dh f'k{kd dsafnzr fof/k 

127- jrkSa/kh fdl foVkfeu dh deh ds dkj.k gksrh gS\ 

 (A) foVkfeu ,  (B) foVkfeu ch 

 (C) foVkfeu lh  (D) foVkfeu D  

128- foVkfeu inkFkZ gSa& 

 (A) gesa LoLFk cukus ds fy, nokvksa ds :i esa 

 (B) gesa etcwr j[kus ds fy, ekalisf'k;ksa dk 

 fuekZ.k djrs gSa 

 (C) vHkko jksxksa dks jksdus ds fy, NksVh ek=k esa 

 vko';d gSa    

 (D) otu esa deh djus ds fy, gekjh p;kip; 

 nj esa o`f) ds fy,  

129- foVkfeu A dk nwljk uke gS& 

 (A) jkbcks¶ysfou  (B) jsfVukWy 

 (C) ikbjhMksfDlu  (D) fFk;kekbu 

130- eqxhZ dk vkokl gS& 

 (A) vLrcy  (B) 'kwdj'kkyk (C) fiatM+k  (D) fcy 

131- d{kk esa laHkkfor iz'u iwNus dk mís'; Nk=ksa ds -----

----dkS'ky dks c<+kuk gSA 

 (A) lkekftd  (B) HkkoukRed 

 (C) fopkj/kkjk  (D) lquuk 

132- yík[k ds 'khr e#LFkyh; {ks=ksa ds ?kjksa dh nhokjksa dks 

ysfir fd;k tkrk gS& 

 (A) feêh vkSj pwus ls (B) feêh ;k xk; ds xkscj ls 

 (C) dsoy xk; ds xkscj ls (D) jax ¼isaV½ ls 

133- bZ-oh-,l- f'k{kk dk eq[; mís'; D;k gS\ 

 (A) i;kZoj.k vksSj mldh leL;k ds ckjs esa 

 tkx#drk    

 (B) i;kZoj.k ds izfr ftEesnkjh dh Hkkouk  

 (C) i;kZoj.kh; leL;kvksa dks gy djus gsrq 

 dkS'ky     

 (D) mijksDr lHkh  
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134. Typhoon is a type of- 

(A) Cyclone  (B) Flood 

(C) Earthquake (D) Landslide 

135. The taste of acids is ............. 

(A) Bitter (B) Sour  (C) Salty   (D) Sweet 
136. Which  among the following acid our 

stomach uses for digesting food ? 

(A) Citric acid    (B) Hydrochloric acid 

(C) lactic acid     (D) Sulphuric acid 

137. Identify a disorder in which a child is 

unable to communicate and interect with 

other people. 

(A) Agoraphobia (B) Dyslexia 

(C) Alexia  (D) Autism 

138. Where is iharkhand located on the map of 

our country ? 

(A) East of West bengal 

(B) North of Odisha 

(C) South – East of Chattisgarh   

(D) West of Uttar pradesh 

139. Identify an inappropriate material used 

for making Pucca roads. 

(A) Cement  (B) Concrete 

(C) Coaltar  (D) Wood 

140. The place of origin of Sutlej river is - 

(A) Satpur range, Betul (M.P.)   

(B) Mahabaleshwar (Maharashtra) 

(C) Mt. Kailash (Tibet)    

(D) Maikal hills, Amarkantak (M.P.) 

141. The human races are greatly influenced 

by: 

(A) Birds  (B) Animals 

(C) Climate          (D) All of the above 

142. In which state, does boat race in 

backwater canal takes place ? 

(A) Goa  (B) Andhra Pradesh 

(C) Tamil Nadu (D) Kerala 

143. Our body consists of water about- 

(A) Almost one-third of our body weight  

(B) Almost two-third of our body weight 

(C) Almost one-sixth of our body weight  

(D) Almost one-fourth of our body weight 

144. One of the ways of controlling water 

pollution can be by: 

(A) Preventing industrial waste falling 

into the water body.    

(B) By celebrating festivals near the water 

bodies. 

(C) Allowing laundry services near the 

rivers.    

(D) By removing all the plants on the side 

of the water body. 

134- VkbQwu fdldk ,d izdkj gS& 

 (A) pØokr (B) ck<+  (C) Hkwdai  (D) HkwL[kyu 

135- vEy dk Lokn -----------gksrk gSA 

 (A) dM+ok  (B) [kêk  (C) uedhu  (D) ehBk 

136- gekjk isV Hkkstu dks ipkus ds fy, fuEu vEyksa esa 

ls fdldk mi;ksx djrk gS\ 

 (A) lkbfVªd vEy (B) gkbMªksDyksfjd vEy 

 (C) ySfDVd vEy (D) lY¶;wfjd vEy 

137- ml fodkj dh igpku djsa ftlesa ,d cPpksa vU; 

yksxksa ds lkFk laokn vkSj ckrphr djus esa vleFkZ 

gksrk gSA 

 (A) HkhM+ ls Mj yxuk (B) fMLysfDl;k 

 (C) ,ysfDl;k  (D) vkWfVTe 

138- gekjs ns'k ds ekufp= esa >kj[k.M dgk¡ fLFkr gS\ 

 (A) if'pe caxky ds iwoZ esa  

 (B) vksfM'kk ds mRrj esa  

 (C) NRrhlx<+ ds nf{k.k&iwoZ esa    

 (D) mRrj izns'k ds if'pe esa 

139- iDdh lM+d cukus ds fy, mi;ksx dh tkus okyh 

,d vuqe;qDr lkexzh dh igpku djsaA 

 (A) lhesaV  (B) daØhV  (C) dksyrkj  (D) ydM+h 

140- lryt unh dk mn~xe LFky gS& 

 (A) lriqM+k dh igkM+h] csrwy ¼e-iz-½  

 (B) eSdky ioZr] vejdaVd ¼egkjk"Vª½ 

 (C) dsSyk'k ioZr ¼frCcr½    

 (D) eSdky ioZr] vejdaVd ¼e-iz-½ 

141- Ekkuo iztkfr------------ls cgqr izHkkfor gS% 

 (A) i{kh   (B) i'kq 

 (C) tyok;q  (D) mi;qZDr lHkh 

142- fdl jkT; esa] i'porhZ ugj esa uko dh nkSM+ gksrh gS\ 

 (A) xksok  (B) vkU/kz izns'k (C) rfeyukMq (D) dsjy 

143- gekjs 'kjhj esa yxHkx fdruk ikuh gksrk gS\ 

 (A) 'kkjhfjd Hkkj dk yxHkx ,d frgkbZ Hkkx 

 (B) 'kkjhfjd Hkkj dk yxHkx nks frgkbZ Hkkx  

 (C) 'kkjhfjd Hkkj dk yxHkx ,d&NVoka Hkkx 

 (D) 'kkfjfjd Hkkj dk yxHkx ,d pkSFkkbZ Hkkx 

144- ty iznw"k.k dks fdl izdkj ls fu;af=r fd;k tk 

ldrk gS% 

 (A) vkS|ksfxd vif'k"V dks tyh; fudk; esa 

 fxjus ls jksddj     

 (B) R;kSgkj dk vk;kstu ty fudk; ds lehi 

 djds  

 (C) diM+s /kksus dk dk;Z ufn;ksa ds ikl djds 

 (D) ty fudk;ksa ds ikl ds lHkh ikS/ks  gVkdj 
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145. Travel can be discussed and well 

understood in class by. 

(A) Asking the children to narrate the 

difficulties they had anytime while 

travelling.    

(B) Asking them to draw the pictures of 

various modes of transport  

(C) Asking them to cut and paste the 

pictures of modes of travel on land   

(D) Showing them a movie on different 

types of cars and car racing. 

146. In which of the following option an EVS 

teacher should be focused ? 

(A) Internalizing values for the concern of 

earning livelihood    

(B) Listening to the experience of studen-

ts and relating it to the natural and socioc-

uttural environment.  

(C) Exclusively on respecting views of 

parents about increasing their children's 

performance in tests     

(D) Exclusively on developing practical 

skills. 

147. Which is not the feature of joint family ? 

(A) Most aged man is the head of the 

family     

(B) Size of joint family is large  

(C) all the family members torture each 

other and demotivate for any work.  

(D) Due to elders in family children tend 

to learn discipline at an early stage 

148. Temperature, Pressure, Heat and Energy 

are studied in which other subject along 

with EVS ? 

(A) Chemistry and Biology    

(B) Physics and Biology 

(C) Biology    

(D) Physics and Chemistry 

149. Which of the following is an integrated 

part of environmental studies at primary 

level ? 

(A) Science  (B) Environment 

(C) Maths  (D) Both A and B 

150. In which approach different skill is used 

in order to learn new things ? 

(A) Process approach    

(B) Conceptual approach 

(C) Integrated approach    

(D) Activity approach 

145- d{kk esa fuEu esa ls fdl izdkj ls ;k=k ij ppkZ dh 

tk ldrh gS vkSj mls vPNh rjg ls le>k tk 

ldrk gS% 

 (A) cPpksa ls ;k=k ds nkSjku mudh dfBukbZ;k¡ 

 crkus dks dgdj     

 (B) mUgsa ifjogu ds fofHkUu lk/kuksa dh rLohj 

 cukus dks dgdj 

 (C) mUgsa Hkwfe ij ;k=k djus ds fofHkUu ek/;eksa 

 dh rLohjsa dV vkSj isLV djus dks dgdj 

 (D) mUgsa fofHkUu izdkj dh dkjksa vkSj dkj jsflax 

 dh fQYe fn[kkdj 

146- fuEu esa ls fdl fodYi esa ,d bZ-oh-,l f'k{kd 

ij Qksdl fd;k tkuk pkfg, \ 

 (A) vkthfodk dekus dh fpark ds fy, ewY;ksa dks 

 vkarfjd cukuk    

 (B) Nk=ksa ds vuqHko dks lquuk vkSj mUgsa  izkd`frd   

 ,oa lkekftd lkaLd`fr okrkoj.k ls tksM+uk 

 (C) fo'ks"k :i ls ijh{k.kksa esa vius cPpksa ds 

 izn'kZu dks lq/kkjus ds ckjs esa ekrk&firk ds 

 fopkjksa ds lEeku ij     

 (D) fo'ks"k :i ls O;kogkfjd dkS'ky fodflr 

 djuk 

147- dkSu lh la;qDr ifjokj dh fo'ks"krk ugha gS\ 

 (A) lcls o`) O;fDr ifjokj dk eqf[k;k gksrk gS 

 (B) la;qDr ifjokj dk vkdkj cM+k gksrk gSA 

 (C) ifjokj ds lHkh ljnL; ,d&nwljs dks ;kruk

 nsrs gSa vkSj fdlh Hkh dk;Z ds fy, fopfyr djrs 

 gSaA    

 (D) ifjokj esa cM+s gksus ds dkj.k] cPps ,d 

 izkjafHkd pj.k esa vuq'kklu lh[krs gSa 

148- bZ-oh-,l-ds lkFk rkieku] ncko]Å"ek vkSj ÅtkZ 

dk v/;;u vU; fdl fo"k; esa fd;k tkrk gSa\ 

 (A) jlk;u foKku vkSj tho foKku  

 (B) HkkSfrdh vkSj tho foKku 

 (C) thou foKku    

 (D) HkkSfrd foKku vkSj jlk;u foKku 

149- fuEu esa ls dkSu lk izkFkfed Lrj ij i;kZoj.kh; 

v/;;u dk ,d vfoHkkT; fgLlk gS\ 

 (A) foKku  (B) i;kZoj.k 

 (C) xf.kr  (D) A vkSj B nksuksa 

150- fdl n`f"Vdks.k esa u, dk;Z lh[kus ds fy, 

fofHkUu dkS'ky dk mi;ksx fd;k tkrk gS\ 

 (A) izfØ;k n`f"Vdks.k (B) oSPkkfjd n`f"Vdks.k 

 (C) ,dhd`r n`f"Vdks.k (D) xfrfof/k n`f"Vdks.k 
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ANSWERS 

1 A 21 D 41 B 61 A 81 B 101 C 121 C 141 C 

2 A 22 C 42 C 62 A 82 C 102 B 122 D 142 D 

3 B 23 B 43 D 63 D 83 C 103 A 123 D 143 B 

4 D 24 B 44 C 64 C 84 D 104 C 124 B 144 A 

5 B 25 D 45 A 65 C 85 B 105 B 125 C 145 A 

6 C 26 A 46 C 66 A 86 C 106 D 126 A 146 B 

7 B 27 B 47 B 67 B 87 B 107 B 127 A 147 C 

8 C 28 B 48 D 68 D 88 D 108 D 128 C 148 D 

9 A 29 D 49 D 69 A 89 C 109 C 129 B 149 D 

10 C 30 A 50 B 70 A 90 C 110 B 130 C 150 A 

11 A 31 C 51 D 71 A 91 D 111 A 131 C   

12 D 32 A 52 A 72 B 92 B 112 B 132 A   

13 A 33 C 53 C 73 C 93 A 113 B 133 D   

14 B 34 A 54 A 74 A 94 C 114 D 134 A   

15 B 35 D 55 C 75 C 95 A 115 C 135 B   

16 A 36 D 56 B 76 C 96 B 116 A 136 B   

17 C 37 B 57 C 77 D 97 D 117 C 137 D   

18 D 38 D 58 A 78 B 98 C 118 D 138 B   

19 C 39 A 59 D 79 D 99 A 119 C 139 D   

20 B 40 D 60 D 80 C 100 C 120 A 140 C   
 

 

 

 

 

Hkkx&2 ¼laLd`r½ 

61 A 66 A 71 D 76 A 81 A 86 C 

62 D 67 A 72 B 77 C 82 B 87 C 

63 C 68 B 73 A 78 A 83 B 88 B 

64 C 69 A 74 D 79 A 84 B 89 A 

65 D 70 A 75 D 80 A 85 D 90 B 
 

 

 

 

 

 


